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Read the following instructions carefully before you begin to answer the questions. This Boollet contains questions in English as well as in Hindi,

Before you start to answer the questions, you must check up this
Booklet and ensure that it contains aJl the pages (1-56) and see
that no page is missing or repeated and the ‘Question Bogklet
and the OMR sheet provided to you bear the same Serial

| Number. If you find any defect in this Booklet or in the Serial

Number, you must get it replaced immediately on receipt of

question paper.
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INSTRUCTIONS TO CANDIDATES

1. This Booklet ¢ontains 200 questlons in all comprising the
following five parts:

Part A : General Intelligenéé & Reasoning (50 Questions)

Part B : General Awareness (50 Questions)
Part C : Numerical Aptitude (50 Questions)
Part D : English Comprehension - (25 Questions)
Part E : Hindi Comprehension (25 Questions)
2. Inquestions, set bilingually in English and Hindi, in case of]

discrepancy, the English version will prevail.
3. -All questions are compulsory and carry equal marks.

4. ' The paper carries negative marking. 0.25 marks will be
deducted for each wrong answer.

5. Answers must be shown by completely blackening the
corresponding circles of the OMR Sheet against the relevant
.question number by ‘Black or Blue Ball-point Pen only.
Answers which are not shown by Black or Blue Ball-point Pen
will not be awarded any mark. -

6. A machine will read the coded information in the OMR Sheet.
In case the information is incomplete or different from the
-information given in the application form, such candidate will
be awarded ‘ZERQ’ mark. .

7. OMR Sheét must be handed over to the Invngllator before
you leave the Examination Hall- failing which your
candidature will be suspended.

8. The manner in which the different questions are to be answered
has been explained at the back of this Bookiet (Page No. 56),
which you should read carefully before actually answering the

~ questions.

9. Answer the questions as quickly and as carefully as you can.
Some questions may be difficult and others easy. Do not spend
too much time on any question.

10. © No rough work is to be done on the OMR sheet. Blank spaces
for rough work has been provided at the end.of the question

IATEER o To1q ST
1. 3@ gRes & ot 200 v &, R frefafeq ot wm €
Y % : W gy 3R T (50 ¥¥)
AP Q@ : HHA AR (50 w¥ )
T 7 ; T Al (50 %)
o g ST e (25 w=9)
T % Rl T (25 w)

2. aﬁﬁaﬁ%ﬁwﬁmmmmmﬁﬁémﬂﬁﬁﬁ
£ R 7, s Rrewwr T g

3. oty ot § qun wed SR 3

4. WA T R THERTE T Q) WS e W F Y 0.25 I
HIeT S| _

5. aNTLAR. 9B ¥ @ I WA gen %.wm o weha
TR @H] 1 Sas Fi 3ruEl AR afe @5 W g 9@ 9%
A 1wk RErd) St Memen me e s e S e W

6. NN W F Fe wg g & WA gEw 5§ s 1

g o R v o Yo A g @ fm R, A W@
srefl FY y 3 e s,

7. qlEr-wad SigY ¥ Ygo el Y SN, v v W
g 3 =nfwe, imam%vawa‘fﬁwﬁmﬁﬁﬁaﬁam'
&mmm

8. fafim wwl & 3w A H iy @ o 5 08 (g8 wem 56) §
@@ﬁﬁﬁ'ﬁmw%,ﬁmwﬁ%mﬁéﬁé
U S @ et T '

9, ﬁ-%mqmﬁamwmﬁam"ﬂwmam@w
#| foret w s g Al T A WL

10. @ oft wom S .03, 9B W AE w0 §1 = EE S0
¥ frg wed yfesht % si § @relt v T w3

booklet. . . .

11.  Use of Calculators or any electronic devices are strictly| 11. Shegaet a1 et off wiagier Sumoelt 1 swim w&d afdfa 81
prohibited.

gl T STgFHIS: Fvgdl T T

Roll Number of the Candidate:

arreff @7 YA, BRIER aU1 SR ) Y3W 9 { T el T ] a1 e 9 R
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Part-A: General Intelligence and ~ ANOSIPTNR2023 - HIT F: AT gy 3R &
Reasoning , ‘ .

HIT %; G 9fy 3R a&
PART-A: GENERAL INTELLIGENCE AND REASONING

Directions {Question no. 1-2) : The first two items, of each of the following questions bear some
‘relationship. Discover that relation and on the basis of those relations, pick up one item from
choices which bears the same relation-with the third word.

frem Fovder (sreet W@ 1-2) : AT Teds W & el &1 HTeeH o ToE TG &l 39 Haer A
mﬁaﬂ?mmé?mw,Wﬁﬁwmgﬁmﬂ?ﬂmzlﬁ%mmﬁéﬁw

1. DILIGENT : UNREMITTING : 1. DILIGENT : UNREMITTING e
DIAMETRIC :.? . DIAMETRIC: ?
(A) Opposite _ (A) Opposite
(B) Contrary ' . (B) Contrary
(C) Geographical _ (9 Geographical
(D) Pretentious. - (D) Pretentious -
2. ‘Heroism : Reward :: ' 2. Heroism' : Reward ::
(A)  Wish : Deed ' (A)  Wish : Deed
()  Civilian : Criminal (B) Civilian : Criminal
(C) Misdemeanour : Felony: (C) Misdemeanour : Felony
(D) Trespassing : Burglary : (D) Trespassing : Burglary

Directions (Question no. 3-4) : Find the answer choice ‘which gives the same relationship as is
found between the two terms to the left.of the sign. '

mnﬁ&y(mams-@ agmi%arqaésﬁaﬁmﬂm%aﬁﬁm#mém
ar gai & & 9RT ST g |

3. 5:125:6:7 - 1-3. 5:125:6:?
(A) 343 . ) : (A) 343
(B) 576 . J _(B) 576
(c) 216 ' I (C) 216
(D) 326 (D) 326

4. 46:69:7:? 14 . 46:69::7:?
(A) 52:78 (A) 52:78
(B) -48:74 (B) 48:74
(C) 58:86 S ’ (C) .58:86
(D) 60:80 - (D) 60:80



Part-A: General Intelligence a’nd-v AN08IPTNR2023, aqm-q—;,mm;:q ?,ﬁ&" v a&
Reasoning _ _
Directions (Question no. 5- 6) Study the following mformatlon careful|y and answer, the questions
given below. : :

-, fram frder (W W&AT 5-6)

oot & IR G |

5.

6.

Directions (Question no. 7- 10) : Find the missing numbers.

The average age of husband, wife and
, their child 3'yedrs ago was 27 years and
that of wife and the child 5 years ago
“was 20 years. The present age of the
husband is

(A) 35.years

(B) AOyears
(C) 50vyears
l(D), None of these

A, B and C can do a piece of work in 20,
30 and 60 days respectively. In how

" many days A can do the work if he is

assisted by B and Con every third day?

(A) 12days

(B) -15days -
(C) 16 days
. (D) 18 days '

:M@Hmwtmqumwmﬁ??ﬁmm*

3 af gg ufd, geh AR I aT
#1 e g 27 9f o AR5 ¥
g gt 3R e A 3ad 3g 20
¥ ofr| ofy i adA HY T

(A)

®)

(C)

35. a%
40 ay;
50 a¥

(D) 5o & FI5 el

A, B 3% C ww @A & wAT: 20, 30
s 60 AT & # wehd §1 I A F
w dey Rer B 3R C ggRr werar
m%a’rAmﬁmﬁMW

(A)
{B).
(c)
(D)

ﬁanﬁ'éer(mam%m) Wmmmﬁl

7.

216,221, 231, 246, 266,

(A) 289
(8) 271
(C) 281
(D) 291

1,6, 15, 28,45
(A) .56 .

(B) 66
(C) 57
(D)- 63

17,

N

216,
)
B)
(C)
(D)

. Gl 87

12 f&=1
15 &=
16 f&st
18 & .

221, 231, 2486, 266, ..
289

271

281

291

1, 6,15, 28, 45 J

(A)
(B)
(C)
(D)

56.
66
57
63

kS

-
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‘Part-A: General Intelligence and . ANOSIPTNR2023

AT e Ry A ad

Reasoning _ SN .

9. 2,5,10,17, ... 9. 2,5,10, 17, ...
(A) 21 (A) 21
(B) 26 (B) 26
() 27 ' () 27
(D) 29 . (D) 29

10. 31, 35,43,59,91, ... 10.  31,35,43,59,91, ...
(A) 135 : > (A) 135
(B) 145 (B) 145.
(C) 155 (C) 155
(D) 165 : \ (D) 165

Directions (Question no. 11-14) :
questions given below.

Study the following information carefully and answer the

Ream rer (woeT HEAT 11-14) : RFARAIGT ST #7 AEF e Ft 3R AR R

Y&l & 3R & |

11 In a certain code, TRIPPLE is written as | 11. . ff¥aa 315 &, TRIPPLE T SQHOOKD
SQHOOKD. How is DISPOSE is written in for@r Sar &1 39 #5 & DISPOSE $9
that code?

forar s

(A) CHRONRD (A) CHRONRD
(B) DSOESPI (B) DSOESPI
(C) ESITPTF (C) ESITPTF-
(D)- ESOPSID (D) ESOPSID

12. In a certain code, SUGAR is written as 12. uws WRug 91 #H, SUGAR &' ARGSU
ARGSU. What is TEAST when decoded? & w7 & @ o ¥ B g W

' TEAST T §I9TT?

(A) FEAST (A) FEAST
(B) STATE (B) .STATE
(C) STEAT (C)' STEAT
(D) ATEST (D) ATEST _

13.  If DIAMOND is coded as VQYMKLY, how | 13. - af DIAMOND &I VQYMKLV & &7 &
Is FEMALE coded? Ffeq frar Sar &, @ FEMALE

&9 =ifsa frar seem?

(A)  TUMYNU . (A) TUMYNU
(B) UVNZOV (B) UVNZOV
(C) UVNYNV- (C) UVNYNV
(D) TVNYNV. (D) TVNYNV

14. If BEAUTY is coded as YVZFGB, then |14. 3fg§ BEAUTY. &I YVZFGB & ®9 &
CHARM is coded as Ffda fhar smar &, o cHARM @
(A)  XSINZ (A) XSINZ
(B)  XSZIN (B) XSZIN
(C)  ZINSX (C)  ZINSX
(D) BGzZQL (D) BGzQL

B



Part-A: General Intelligence arid

Reasoning

ANOSIPTNR2023 -

T & I gy 3R

Directions-(Question no. 15:16 ) : P’lck out the dlfferent one.
Rrem frder (weet w&d 15 -16) & et &7 wwa A

i5. (A) EDH 15. '(A) EDH
(B) MLO (B) MLO - v
(€ RraU (C) RQU
- (D) XWA (D)  XWA
16. (A) FC 16. (A) FC ,
(B) IE ‘ -(B) JE
(C). NH (C) NH
(D) PH (D) PH

"Directions (Question no. 17- 18)
questions given below.

feem fAder (st WEAT 17-18)
. T g9t & Il & |

¥

Study 'the following information carefully an»d' answer the

: Tl SRR, T CAeEH mmﬁm#rﬁ%tf

17. A Shopping mall worker loads his trolley 17. T Qﬁﬁm AT amfl?.rrfr Y glely s
and walks 50 m through an. alley which ‘ AT ¥ HR 3_dT Hr 3m- = Gl TH
is going North, then he turns to his left >
‘and walks 15 m, then he turns South ;-‘T‘;ﬁ # 50 H_E“ ¢ fom AT 3R
and -walks 4nother 15 m, then he turns_ Hsdl g 3k 15 e =ear § AW
‘East and walks 25 m and then he turns afaw #Fr I S g 3k 15 A
South. and walks 35 m. Where is he now " e AT
with’ reférence to’ h|s startlng posmon? , ¢ o q‘:é 3 2 ¢

_ IR 25 AeX oA § AR AR @

afgyor #r AR Asar § IR 35 HX
Toar ¥ e gRfee fRufa & dad
# 9§ 39 el 87

(A) 10 m West (A) 10 #rY ufEgH

(B) 10mEast B) 10X GE

(C) 40 m East (C) 40 #rex @

(D). 40 m West, y (D). 40 #Hrex ufRa#A

‘18. . Two battle tanks start from the same |18. & Ig&h S W?f fig & g% g &l
point. Tank A travels 12 km South, then & A, 12 Rl gl fr HR amr
turns to its left and travels 7 km. Tank B
travels'7 km South, then turns West and ' C R &, SR S e e 3R 7
travéls 9 km, then turns to its left and Reaft Y - el B ?E B, 7 Ty
travels 5 km. ‘Where is tank A with a‘f?lvr Y 3R ST &, TR aREm dr
respect to tank B? ' 108 34'5?" Yk o ey &y AT T

§, R 3 @ 3N q3ar ¥ AR 5

fapelT T AT T B 5 B & e
.\ F &5 A Fgl 82 . -
(A) 16 km West (A) 16 forelT afRad '
(B) 2k East (B) 2 feh o
(C)  2kmWest (€) 2 forshr qREw
(D) 16 km East (D) 16 fRaY q‘:é

6 B
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Part-A: General Intelligence and ANOSIPTNR2023

Reasoning

§TT F: AT Y 3R aF

Directions. (Question no. 19-20) : In each question below is given a statement followed by three
courses of action numbered (a), (b) and (c). A course of action is a step or administrative decision
to be taken for irﬁprovemen‘t, follow-up action in regard to the problem, policy etc. On the basis of
the information given in the statement, you have to assume everything in the statement to be-
true, then decide which of the suggested courses of action logically follow(s) for pursuing.

Rram forder (e WEAT 19-20) : A Ry ¢ gAF g § wH wuw g wwm § owd e
e FaREr s (a), (b) 3R (0) & E §l FHERT UF weA AT TeEAe Aoy § oSt
FHEE, Afd IR & FEY A FUR, e FRas F AU S S gl HYT H & T
SARHY & IR W), mwﬁanémﬂqw-ﬂam ddlmﬂ_q% HTW?%

wmmmﬁaﬁa-mmaﬁaﬁmﬁmm%l

-Statement:

19. A large private bank has 19. &Y TH a2 Ten 9 o o d=
et 1y onead of 5| et o g rt w2
incSr_r_Zd by it during pasg.t three :E’;U o o AT FHARAT & Seeft
quarters. e 1 o for g |
Course of actions: warst &1 F
O enton to geners public o @ SR AR o

" immediately stop all transactions Serer F1 dF F AT oo
with bank. deer da F A st

) (b)  The Government should direct SR

the bank to refrain from (b) o R
retrenching its employees. .

(c) The Government should ask the ?.n‘i%ﬂ' R ag s ﬁi

| central bank of the country to seal T R
initiate an enquiry into the ©) WEX & 20 & SO ¥ A
‘bank"s activities ar\d submit its S5 o TRRRE & m =
report. ot s e R q:'ﬁ:qﬂ'\ﬁ,‘ \
T g =il

(A)  Only (a) and (¢ (A)  draer (@) 3 (©)

(B) Only(a) (B) &aw (a)

(C) Only (b) (C)  #ae (b)

(D)  Only(c) (D) &aw (c) )



Part-A: General Intelligence and
Reasoning:

ANO8IPTNR2023

AT F: WA gy AR aE

20. Statement: One aspirant was killed due

to stampede while participating in

recruitment drive of police constables.

¢ Course of actions:

(a)

(b)

(c)

HE

The officials in chwarge of

recruitment  process should’

immediately suspended.
A'team of officials should -be

asked ‘to fihd, out

circimstances which lead tothe

death of the aspirant and submit
its report within a wéek.

The G;vernmént,should ask the
home department to stagger the
number of a;ﬁirants over more
number of days to avoid such

incidents in-future.

Only (a)

. Only (b)

Only (c)

Only (b) and (c)

the

20, deu v w1 o w &

ssgdf fr Ag S |

fraait &1 e

(@)

(c)

(A

(B)
(€)

f

T
afeel -
iR # v e w5
S
"HROT AHEN H A 55 i

| IEGd A AT

¥ T @aR A g R §
FEel AT f § seEE
T HH B g:raﬁﬁw

ad «(a)

hadl (t;)
shael ()

e (b) 3 (©)

¥
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Part-A: General Intelligence and ~ ANOSIPTNR2023 T & HDTIF[!T iy T

Directions (Question no. 21-22) : Which answer figure will complete the pattern in the question ﬁgure'.

ferert forder. (weer WeAr 21-22) : HlT W 3eaq MFIF T HIA & YeoT @1 @ A

g RIe) hille
A1OD 1D
w L ") @ |
(8) D ®) D
@ | (] | @ | d
o) D ' (D)  * D
22, O | 22. ; o)
O ‘ O
?v I \o ? ol
(@] o
(A) (A)
'(B)' o (8) | o
@ | > (c) °
(D) D)
: O; (@]
{B |
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Part-A: General Intelligence and

AN08IPTNR2'023 '

a:mamg%sﬁta%

make:the question flgure?

- frerT e (sreet w&AT 23)

& SST ST Hehel §?

" Directions (Question no. 23): WhICh of the following answer figure patterns can be combined to

;IR T % R SR B SR T G

23. — 23, —
\

® . HYH W HH R

_ ~ -
®) Oooeo B mMoooom
€ O 1 [ () ] 1
.'_'_ T O 'B'_~11-__
o roF . o b H
g luguls npinninguls

10 B
o reo o e et W S worreiiigs e v S5 . G ML 8 WAL B G T




Part-A: General I,ntell‘igéngce and
Reasoning

ANOSIPTNR2023 HT & AR gy it T

Directions (Question no. 24-25)  Which answer figure will complete the pattern in the question
figure? . )

fre forer (et §EAT24-25) 1 T W e P T HPhA & Yoot &y tggrm?

R

« - — T TR R — —

24, , 2. [
s // \
(A) ) ) \
(B) ( (B) (
© \ (c) N
(D) ' (D) %
25. / | 25. /
" " E |
() (B) |
() N
0 (0)
; m
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Part-A: General Intelligence and ~ ANOSIPTNR2023 . AT & WA gy AR
Reasoning - : -

Directions (Question no. 26-27) : From the given answer figure, sélect the one in which the

question figure is hidden/embedded?

Rretr Rrder (V0T TEAT 26-27) 1 & E IR WF A F W IR PR W wqT Y o

et 3 vt &7 : ' -
26. 26.
\
(A) NN . (A) )
N/ -
B N )
(© ' - ©
(D) \\// (D) N
' N g
 PTN <
AN N
2 | B



Part-A: General Intelligence and  ANOSIPTNR2023
3 .

T & WA 9y IR aF

Reasoning
27. 127.
A\ , A
o XX w (XX
VvV Y V
(B) - (B)
AN JATANN
©  FARX O FARx
/[ \ [\
(D) (D)
B. 1}3l
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Part-A: General Intelligence and
Reasoning |

ANOSIPTNR2023

- W WA qfy AR o

Directions (Question no. 28-31) :
questions given below.

faamr &er (e wwar 28-31)
et & Fee & |

28.

‘Study the following information carefully and answer the

ﬁmﬁ@amwwmqj%mwmsﬂ??ﬁﬁﬁvm

w T B A R A R

28, Three <positions of a.cube are shown
below. What will come opposite to-face g-lé ¥ N e FeE ¥ BT F4r
. containing 'N'? , ; . '
P P & /
1 Q Z S
- N- R Z g
(A) P (A) P
|) Q B Q
@ s (C)~ S
(D) R (b) R ‘
29. If in a dice its two opposite surface, | 29. " aﬁwq@ﬁa’rﬁqﬂﬁmaﬂzﬂw7%
. addition is 7. Which is the right form of - | ~ Y = R e WW'H?T T Fi o
this dice shown below?” _ %_7 -
(A) Q’ (A) Q’ .
Bz R
©) @ (D) h‘
14
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Part-A: General Intelligence and ~ ANOSIPTNR2023

T F: FEET 9 AR aF

T

aﬁﬁmﬁﬁamaﬁrww' ECI)
& forT Agr 11T, A AR fegait aTe! wereh &
fereRrer weren R féfcTay foig forams &t

100

00|

. Reaéoning )
30. If the following figure is folded.to forma | 30.
cube, how many dots would appear on
the face opposite the face bearing four
dots?
O
== "o
[ N
=3
(a) s
(B) 3
(C) 6
(D) 1 .
31. Three different positions of the same 31.
dice are shown below. ‘Which symbol is
on the face opposité to the face
showing '*'?
(A) +
B) %
(C) #
D) &

(A)
(B)
(C)
(D)

= ()] w (92

& T A A Sy R
A g 7 §1 W @ 9 wors
& AT wos W FiT a1 Rea &2

(B)
(€)
(D)

15



Part-A: General Intelligenceand ~ ANOSIPTNR2023 T &: AT gﬁ' Iy aw
: Reasoning ’ "
Directions (Questlon no. 32-33) : Select the one which is different from the other three responses

- e ﬁé&r(m?rmsz -33) ﬁwa’rﬂeﬁﬂmﬁr@@m%l

32. _ 32. . -
N M - Y [ ] < 9
[ _. [ ] [)
I e ‘ ' (] Y o ! - % (J (Y ®
? o A B  (© (D) oA ® @ o)
R £ @ - ;" | | ED o133 @ . ED
[ . ! e A . . - ’ » : ‘
: Y B) - (€) (D) . (A) (B) @ - (@
] ' ' Direétions '(Qeestion no. 34-35) : In the fbllowing_ questions, find the correct answer from the
. l; ' given options . ' | .
| fear e (vem wEaT 34:35) ¢ PFATRad et & RUIT Reredt F AT ScaR AT RTE =~ 2z _
1 '
- 34. What number should.come next in 45 3 3 45321545321 4 45321
F_i 21545321445321345321 345321 irsm’rﬁa'
L ? '
i - : , A€ gear 3ﬂ?ﬁ' mf%’u‘?
(A) 1 | (A) 1
(B) 2 (B) 2
| © 4 | (o 4
{ (D) 5 . (D) 5
i
‘ ’ 35:- ‘What letters should-come next in FAG, 35!  FAG, GAF, HAI, IAH ————— &
L ~ GAF,HALIAH, __ °? 3 FT A IR A TR
‘ (A)  HAK - (A} HAK A
Ly (B) HAL (B) - HAL
P (C) JAK ‘ , (€) JAK
\ .
(D) JAF : (D) JAI
i P . — ) i :
1‘ ’ . 16 ' . B

Powee Stk R T b s TR ] e T i R P -
B it 3 o e N - e " ~ Wy, T T v e YN I~ 3
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Part-A: General Intelligence and ~ ANO8IPTNR2023 T &: THATAT g@' IR a®
Reasoning '

Direc_tions (Question no. 36-37) : Study the following information carefully and answer the
questions given below.

feam ﬁé&r(mmiwas-snﬁmﬁﬁﬁamwwmqjmmwﬁaﬁ%ﬁﬁmmﬁ%
3k & | ‘ ' :

36.. The ages of Samina and Suhana are in 36. ’Waﬂtggmaﬁrmwaﬂmamr:
the ratio of 7 : 3 respectively. After ‘6

P Y 7:3 €1 6 A &G, 3eThT 31T T a4 5:3

years, the ratio of their ages will be 5: 3,

BYIIT| SThT 3T 7 AT T &2

What is the difference.in their ages?

(A) 6 years (A) 6 @
(B) :8years : | (B) sim;r
(C), 10 years - () 10 @™
(D) 'Nong of these | (D) TAH § FIS A

37. The present age of soh is half of the 37. - LEl Hr gaAT 3ﬂ?IJ 36T AT HT gAA=T
present age of His mother. Ten years ' Py

, Y T 3TN B | &H Y TG, ST AT Y

ago, his mother’s age was thrice the age ’ ’

mm%ﬁmﬁmgmzﬁlgﬁﬁr

of her son. What is the present age of

the son? i A I T G2

(A) 20vyears | | (A) 20a¥ |

(B) 25 years | t ] - (B) 25a¢ (
(C)  30years. (C) 30a¥

(D) 40vyears o - (D; 40§

B T,




Part-A: General Intelligence and ANO’8!PTNR2023 3T : AHA gﬁs" 3l aF
Reasoning e

‘Directions (Questlon no.. 38—40) Study the followmg mformatlon carefully and answer the
questions given below. ;

In each of these questions, groups of numbérs are given which are to be coded as per the séheme .
given below. You have to find out which of the answers (A), (B), (C) or (D) has the correct coded
form of the given numbers.

Numbers: 6834012579 .
Codes: SLVKMRYDB2Z

fererr fA&er (sresT AT 38-40): %mﬁ@aamﬁaﬂwmmwaﬁaﬁwﬁ?}mm'
TReAT & B S |

mﬁmmﬁﬁmﬁﬁwﬁvm%mmaﬁumma?aduuaﬁr%?rﬁmm%"l '
3R I YT 9T § T3 (A), (B), (C)m(D)ﬁ@mmﬁmmmwuﬁrﬁ%am%l

wEad © 6834012579 o g
Hg: SLVKMRYDB2Z
38, 215963 - . -+ 1,38, 215963
(A) YRDSZV . (A) -YRDSZV
(B) RYDZSV , { - (B) RYDZSV
(C) YRDZVS ) (C)  YRDZVS '
(D) YRDZSV . ' (D) YRDZSV
39. 734025 - 139. 734025
(A)  VBKMYD. - (A)  VBKMYD ‘
(B) BVMKYD -~ (B) BVMKYD
(C) BVKMYD - : {C) . BVKMYD'
+ (D)  BVKMDY ) {D) BVKMDY
40. 058341 ‘ 40, 058341
(A) MLVKDR - + (A} MLVKDR
(B) MDLVKR ; (B) MDLVKR
(C) DLMVKR ‘ (C) DLMVKR
(D) MDLKRV ’ (D) MDLKRV

18
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Reasoning

Directions (Question no. 41-42) : In the fbllowing questions, select the related word pair from the
given alternatives. ' '

fererr forder (weer wiwam 41-42) : PerfRf@e weat # Ryw are Rreredt o & ey erog goer &7 e Y|

41. Blood: Red :: Coal: ? ' ' 41. Blood:Red:: Coal:?
(A) Black ’ (A) Black
(B) Heat (B)z Heat |
_(©)  Solid (C) Solid
) . \
(D) Mine . (D) Mine l
42. Sad:Happy:?:? . 42.  Sad:Happy :’::? :?
(A) History: Old ’ (A) History: Old
(B) Modern: Ancient . (B) Modern : Ancient
(C)  Economics: Mathemz;utics | (C). Economics : Mz;t'hematics
(D) Love: Beautiful (D) Love : Beautiful

Directions (Question no. 43) : From the given alternative words select the word which cannot be

formed using the letters of the given word.

e forder (weer wEaT 43) :Aﬁvma‘mﬁwam’fﬁ#wemmmﬁa‘rmm QTee; & HERT Fl

maﬂ?aﬁaﬂmmmﬁl _
43. RELINQUISH - 43.  RELINQUISH
(A) Liner (A) Liner
| (B) Raise 4 (B). Raise
(C) Resin | _ (C) Resin
(D)  Shine ‘ (D) Shine
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. Part-A: General Intelligen¢e and T F: AT 9y 3k &
'Reasonmg \ _
g Directions (Questlon no. 44-47) : Study the followmg mformatlon carefully and &nswer the

,‘questlons given below

%&nﬁé&r(mamm 47) TR Ed- STy &7 CAATdw . HeTT w 3ﬁr H e v geat %

e & | .
' 44. If —indicates <+ indicates x, ~indicates | 44. gfe ~, + &l 3ﬁr?r HTAT & +, x T 3ﬁ?{
# T vl i , . ' e . e
¥ . X .lhdlcates +, then whlchh of - the — P ST FATE, x, + T
T following’equa’tioqs"i,s correct? ) . o
. ~ X e g, a Refof@a & @ w9 @
(A) 52+4+5x8=2=36 (A) 52+445x8-2=36
b (B) 43x7:5+4-8=25 " (B) 43%7+5+4-8=25
(C) 36x4-12+5+3=420 (C) 36x4-12+5+3=420
" (D) 36~12x6+3+4=60 (D) 36-12x6+3+4=50
45. In a certain E‘ode PALE is wrjtten as 45. - us fAfad #15 7 PALE &1 2134 for@r S[rar
i 2134, EARTH is aritten as 41590.- How " ¥ EARTH &7 41590 Rrar srar & 3@ s &
: will. PEARL be written,inthat code? PEARL Y3y T STaim?
(A). 29530 (A) 29530
“} ‘ (B) 24153 (B) 24153
. (C) 25413 (C) 25413
iy (D) 25430 (D) - 25430
o f _
11 - ) NV . .
]j 46. Vinita walks'60 metres north, then turns 46.. “farar 60 HIeT IeaR & maa?h g
| right and wallf§ 80 metres, again turns e ﬂ?&ﬁ%‘ 3K 80 3w o &, fre et
i - right and walks ‘40 metres, then again s 3R o - .
v _ Haar 40 Hrel deldr B, .
4 .turns right and walks 80 metres. How 2 T a
i many metres away she is from her A5l § 3R 80 HieT Terch 1 H‘e'mli\ﬂ
original position? ‘ ﬁa;ﬁq@ﬁq—dﬁfmaag%b
(A) 10m (A) 104
3 (8) 40m (B) 40
() 20m . - (©) 204
" (0) Om () o#
20



l Part-A: General Intelligence and ~ ANOSIPTNR2023 - HIT &: A 9 3R aF
| Reasoning ' | . ' ‘ , »
I 47. In the following ‘number Sseries; how |47, f=ff@T d&ar sger #H, fraw 8

- (Q)

" many 8&'s are exactly divisible by its

immediate preceding and succeeding’

numbers?

8869728484.22823’68
. .

454832843783

(A) 6

(B) 5
.

(D). 2

| this figure.
!

¥ qure: fasmsw §
88697284842282368
454832843783

(A):
(8)
(c)
(D)

| ST ST B

Directions (Questionno. 48) : Find out which of the figure can be formed from the pieces given in

Forem forder (s7eeT WG 48) : AT BT o 37 epey o R a1 ot 4 avber o 3Tany o o e 21

1
| 48. ; _' 48. ‘ ‘
| Di=D DsD
31 .
S (€)) R w | D
h
o | D] e | D
. () @ (©) @
[ o ‘ .
G . @
' B 21




Part-A: General Intelhgenge and 7\N08IPTNR”Z,023, ' amra?:“m gf? ik H’é?
Reasoning. ' '

Directions (Questlon no. 49-50) : Two buses F and.G start.from their respect:ve terminals'D and H
respectively. F goes 4 km north before turnlng right and travelling 6 km east to reach city T. From
there it goes 3’km north then turns left and travels 4 km more to finally stop at city U. Bus G starts
from terminal H goes 9 km north to reach city S. From there it turns left to travel 4 km more
before turhing south and travels 2 km more to reach C|ty A. Terminal H is 10 km to the east of

terminal D. . )
i%:anﬁéan(w—fr#@ms;-SOi;‘a’r o, F 3R G, waer: 39w defta effiaa D 3R H @ 3w gt
g1 F ot e W vge 4 Bl SeR B3R AR AR A T A% e R 6 Rl o

ﬁrmwm%lam#ag3%ﬁrmaﬁr3ﬂtm%\ﬁmmvm%’3ﬂ?4m3ﬁi
' .wmams-‘wmuWW%IWGﬁWH@Qngwmﬁmm
‘Qaqmsamqgaﬁarﬁmamﬁa%w;ﬁr-sﬂrggﬁﬁqgﬁwmamwm%m
ATt g & S A o g & R 2 el S A A 1 <R H, e D %

3

9§ 3 10 Rer g7 B

49. If bus P is standing 2 km to the west of 49. girEgep M@Hﬁmﬁ-z%ﬁ
" terminal point H, whqt is the distance ’{{'@3‘5% FﬁﬁgDBﬂTWP%‘Wﬁqﬂ"

_between point D and bus P?

‘ : FATE?
(A) 15 ke ' ) : (A) 15 fwar
(B) 13km ' ‘ ‘ (B) 13
(C) 17km - - Co : (C) 17 Rrah
(D) None of these | (D) 5o ¥ 8

50. What is the total distance covered by |50, &® F eERi a¥ #r o U e

the bus F? o S o

(A)  15km ‘ a (A) 15 fFmAT

(B) 13km . . s (B) 13fFeAT

(€  17km ot (C) 17 fpahr
(D) Nonheofthese ° : . (D) T @ WS A '

e T s
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i - -

et

51.

52.

53

54,

-Assertion (A) -

The most notable event in Indian
Journalism jn 1948 was the formation of:

(A)  Prasar Bharati

(B UNI

(cy p1l

- (D) Press Guild

What ‘are the issues with journalism-in
India?
(A)  Erosion of ethics in Journalism

(B) Biased reporting -
(C) Misuse of freedom of speech*

(D) Allthe above

Which of ‘the following ‘is not =a

responsibility of journalists?

(A) Legal responsibility

(B)  Ethical responsibility

(C)  Professional responsibility
(D) None '

Two statements are given below as

Assertion (A) and Reason (R). In the °
context of the two statements find out

which one of the options is correct:

Every journalist should
follqw journalistic
-ethics.

~ Aids in the reliable,
accurate and balanced

Reason (R) -

reporting of news by

journalists.

(A) Both ;(A) and (R) are true, and (R)
is the corréct explanation to (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

(C) (A)istrue but (R)is false

(D)  (A)isfalse but (R) is true

51. 1948 & HRAT UIRIRAT H Td
Ieo@ArT gear o
(A) JER AR
(B) Fue3ms
(C) dére
(D) 9w Mres

52.  HRA H UARIRAT & 7T 4T §7

(A)  aemiRar & et &1 s
(B) werarerqut Raiféer
€ yfeafda & w@agar @
) RN -
(D) 3T Tl
53. f=fafta & & #a wart &
foFaelr 787 &2
(A) FepEh e
(B) 3w ey
(C) <grgERs fSFAgdY
(D) g =gt A

54.  #r @ FUT AfFEET (A) HR EROT
(R) & &7 & U arv §| aet Hu=t &
FeF F uar T R @lT @ [eeq
e &

grar (A) - Wik CECACSIE- U
qIRIRGT  Afdswar &
qlele] el TIRTI

&RUT (R) - UTRI SaRT FATRT $Y
fOeae, @l 3l
o s N
eI .

(A) (A) IR (R) a=t @ & 3R

- (R), (A) 1 TeY =TT gl

(B) (A) 3R (R) e a@cw §, ofper

(R), (A) 1 | srear =787 g
(€) (A) &eT § afpd (R) aioa &
(D) (A) 3T ¢ AfFT (R) IeT &1
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55, Under the principle ‘Seek truth and 55.. ‘'mears @T\# IR IFdH RO ET
report it’, journalists should also: Rigia ¥ dgd, T9aRE & a8 o T
qIfgT: , : .
(A)  Avoid pondering to lurid curiosity, (A) 3:'-\_& foarr . v IR ==
even if others dq el E,:\EI'!' T Y gt
(B) Avoid conflicts of-interest, real or (B) %T-ﬁ ¥ TG o T, IR .
perceived, disclose wunavoidable W gt a1+, BNﬁBTﬁ
conflicts.
TEEt T Gl Ciy
(C)- Remember that neither speed nor C) g wW@HFaaadiksa é’r
' format excusés-inaccuracy . UG 37efY P ATE AT § -
(D) Abide by the same high standard (D) 3 3oa AWF T UHA HY
' they expect of others gl & qm’f I 38T W ¥
56. Identify the correct chronological |56. TadFaT AT ¥ N qw fpw T
sequence -of. the following newspapers Tefafda gEmR o @ owd
- which were .lauhched during the ' T e TR
freedom.movement: At
(A) Digdarshan ~ Bangadoota - (A) ﬁvaai;r ~ FIgd - {-[.«le_n{ a‘dvr
~Samachar Darpan - Samvad —'\'TCH?( M
Kaumudi ' : o
(B) .Bangadoota - Digdarshan - (B) W ~ fegeds - gEER gdor
Samachar Darpan -~ Samvad _HarE m L
Kaumudi _
(C) Samvad Kdumudi — Bangadoota — (C) wag m'a’r amq\?r - ATER
Samachar Darpan — Digdarshan aduT - fa\qac\,‘r;r
4'(_{3) '*Digdarshan = Samachar Darpan - (D) ﬁ\?aaﬁ?r AR aﬁw Halg
Samvad Kaumudi — Bangadoota m W .
57. Cdmmu;\ist‘ media philosophy believeé 57. am—‘qﬁq-—c: :m'%'qT aQiTrT =RRT &
in using the medja for: - ﬁm' AT @ T m 3. Ryearer
LG &
(A)  Entertaining the masses (A} ST T AARSTT Il
{B).  Planning sound objectives (B) T 32T &1 AT ST
(C) - Elevating public tastes (C)  Sietar &7 31 & 9g=T .
(D) Counter revolutionary methods (D) gfawifaseR &%
© 58, Selettive presentation of facts and 58 F& A F .gHIT F gt Ak IOl
" qguotes in support of certain opinions is ?ﬁ TATCHS Ty Y el ST
referred to as: > AR
(A)  Cherry picking-. (A) % RfFer "
(B) Timecraft (B) eEH FUT
(C)  Propaganda (C)  wgersr
(D)  Selective publicity (D) JAfFea ufsafadr
24 , " [_))
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AT @ HTHTFT SIRTRR AT

59. In 1875 ‘The Statesman’ was founded. |59. 1875 'ﬁr ' TCHHA hr TG TR
by: AT 1§ o A '
(A) Rudyard Kipling (A wzars fHafder
(B) Jof;n Corbett: (B) i isc
(C)  Robert Knight (C) e¢ 713c
(D) James.Silk Buckingham (D) S=F e afdea

.60. Cloze is a method of: 60. Cloze T® A ¢

(A) Editing (A)  guresT
(B) Captioning (B)  3wereien
(C) Readability . (C) uaArFar
(D) Ending (D) AT

61. Hard newsis mostly: 61. wfoa FATAR HAfWHR &
(A) Spotnews (A)  wdie 7t
(B) Society news (B) AT HART
(C)  Entertainment news (C) AR FATER
(D)  Filler news’ (D) fReR FATAR

62. Journalism that promotes  civic 62. EaiyE uirar & anie fdesgar
commitment and citizen participation in i TS aqﬁﬁaﬁ'r FT m &Y aTen

_ democrati¢ process is known as: e T T ST &

(A)  Advocacy journalism (A)  TFeT gIEIRAT
(B) Public journalism (B) AEE qFHHIRCT - -
(C) Alternative journalism (C) dfeds gFwIRAr
(D) Counter media ’ (D) wrSex Afzar

63. Daniel Boorstin coined the term: 63. 3T a‘ﬁé?r & I Usq e
(A) Greenpeace (A) Greenpeace .
(B) Pseudo-event (B) Pseudo-event
(C) Images (C) Images
(D) Jackpot (D) Jackpot

64. Mistake in news reading is known as: 64. JPHER UG F AT Fl gl FT T
(A)  Fluff ‘ (A)  Fluff
(B) Footin the door (B) Foot in the door
(C) Indent . (C) Indent
(D) Lift - (D) Lift.

B 25 |
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- 65.  Yellow journalism derived itsname from | 65.  Yellow journalism &7 FITJTAW EISEE
. an early comic character c?lled eET TR . & T R &
(A) vyellowkid (A) vyellow kid »
(B) yellow boy . (B) yellow boy
(C) vyellow girlie (C) vyellow girlie
(D) vyellow guy (D) vyellow guy
66.  Which'is the face of the newspaper? | 66.  3@ER @ T FA A@T L2
' (A) Headlines " (A) qET a1
(B) . Front page (B) #aqss °
(C) Editpage (C) wurfee ¥er
(D) Masthead (D) ARERE I
67: 'Name the first communication satellite 67. 1962 #F waRT B @ qg?)r FAOR
Twhich?was launched in 19627 ' 3YIE. T ATH FaE?
(A) Early bird ) (A) Early bird
(B) " Intelset ‘ (B) Intel set
(C} Inter- sputnik (C) Inter - sputnik
(D) INSAT ¢ (D) INSAT
68. Which of the follow?’ng was developed 68. Mfaf@a & ¥ &7 ar qag qgrﬁ{
Yfir.st? Rt T T o
(A]  AM Radio (A) ~ wua WA "
(8) Television (B): Celifaser
{C) DRM (@), gmwRuA
(D). DTH (D) Brdiu=,
69. — is associated with the 1 69. ' ‘ ;:i}‘ru'r ¥ wfasew @
* Invention of printing. gt B
(A) Franklin (A)  hafoeT
(B)  Marconi (B) ARSEAT
(C) Johann Guttenberg (C) g alé‘aa?‘r
(D) Charles Babbage (D) =red ¥
" 70. Some stories that wr‘a;:; similar events  70. agz; FElAdl S THRT ‘EIEF{TB#?%T T
into a single story is called: & e & wae & ¥ mg
(A) - Multiple story- , ~ (A)  Multiple story ,
(B Round'story (B) Round story A
(C) Capital story - oo (C) Capital story ‘
(D) Same incident story (D) Same incident story
.26 p
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Part-B: General Awareness N E: AT STRTRHAT
" 71.  Leader writer is one who writes the: 71 3arofr dEE agE A for@ar g
' (A)  Main story (A)  7ET FEwEN
(B) Middle article (B) &\ a@
(C) Editorial (C) durecdT ,
(D) Edit page article (D) gss- e HuIfed &Y
72.  In<the newspaper offices, condensinga {72. JFAEFER 9T FaTaat A, fordr Fgel &
- story is generally referred to as: : ; : '
Yis g v ET HA AT W W OHA dR W
| , g1 ST & '
- (A)  Rewriting (A) Rewriting
(B) Miniaturizing (B) Miniaturizing
(C) Shortening (C) Shortening
(D) - Boiling down (D) Boiling down
73.  Title registration of a newspaper is done 73. O gaR 99 @1 e qsﬁar{nT .
by: e @ e s &:
(A) RNI (A) IR U 31
(B) DAVP (B) 3rudrdy
(C) PIB (C)  raméahr '
: (D) IPRD (D)  3MSHIREY
74. . An advertisement written in the styleof | 74. forely gaETER aE] AT B Y e &
a news item or feature is known as: ' fRra@m T1 T A genrar &
(A) Adnews (A)  fas9s g#RER
(B) * Paid news (B) 93 Fgar
(C) Slug (C) worar
(D) Advertorial (D) rzaEIRT
75. The people or documents used when | 75. Rl Fere i Rafér s ga
reporting a story are called: ITAT BRT S arer et 91 eeardeit
I FHET ST &
-(A)  Sources (A) a@T
(B) Interview (B) wTETeHR
(C) Reader (C) urew
(D) “Column (D)  laH
76. One - or two-wérd small headline | 76. Fgler & 918 IR Y W Rw$ &R
. h , _ . ,
zfoasszglzsllgg: the left-hand top of the T uE 4 ?TEE\T art wrey
" M 1 Fgr 1T &
(A) Taopline (A) Top line
(B) Slug (B) Slug
(C) Small head (C) Small head
(D) Top head % (D) Top head
B 27 | |
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7,7- “'XXX' in a news copy denotes: 77. AR gy & XXX gelar %’

}3 . (A) Endof the'story - ' (n) HEEAT T T

’ (B)  End of thirty words ‘ B) g greet &7 A
" (C)  Story written by three people , (C) e et ganT fordr o1 wgwelr |

‘ (D) Story approved by three editors (D) wFgRr & I Fuesr aanf‘ )
‘ 78. The main headliné on the top of a page | 78. ﬁﬁ@i’r s & NS ur ¥y Tt =
: covering all columins is known as: : : S
vering all cc . | Fa FA qen qew MiE @
: ST &:
(A)  Blurb” o ‘ (A)  faemaer
(B) Lead ‘ ' . (B) Aged wReT
(C) Banner : (-
" (D) Blow-up - " (D) ~ ®@r 3T
_ - 79. Copy - editot is a synonym of:. | 79.  wiq-ufEex @0 gaigardy g
. (A)  News editor , (A) TAR FUEH
(B) Sub editor : (B) 3uHuEH
. (C)  Copywriter ‘ o (€) wdNmEe

1{ > ‘ (D) . “Copyholder . (D) wfafafr arRw

I ' 80. Thisisnot a principle of page make up: 80. I U AWIY FT AET Jal o

] i (A) Proportion : |, (A) AT

, ] W o : ~(B) Balance o ) - (B) H‘{F—IFT ,
i "~ (C) Contrast o (C) e

v © -+ (D) FiveWs . | (D) T secy,

I ' K ‘ . . l -
. ~ 81, Removing unwanted area of picture is | 81. R & 3@iRdd AT @ gelAT HEATr
o called: _ 3 '

b (A) .Crossing S (A) Crossing
(B) . Cropping : (B)  Cropping
g (C) Crawling s ' (C) Crawling . o
(D) Cr.eéping : ~ _ : (D) Creeping
© 82, One line copy that describes the 82. us dfFd ufay S R, Y@fRw ar
‘ _illustration, drawing or photograph is | . PITE T gote w L, FEardr %
" known as:, , ' o i '

| (A) Online . . .~ { (A)  3ffeTerget

e ©(B) Cutline ) ~ (B)  weemsa

: (C) Cutoff ‘ : (C) e AH®
1 (D) Cutout | - (D) & amse

B ’ 28 B
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83.  Obijtuaries should'always t;é: 83. sgiaifar gR9T B9 Tifgw:
" (A) Premature’ (A)  EERE
(B) Printed (B) ﬂﬁ?l'
(C) Posthumous i (C) - FONeaT
(D) ~ Passing . (B)  arfdar
84. Who was the Chairman of the First Press | 84. RG @I W& 9§ URYS & 3Cdar
Council of India? CFiT A9 '
(A) V.K.R.V.Rao (A) drFd. g
() T.N.Singh = | (B) &rwe. R .
(€) Swarn Singh (C) waof fdE '
(D) G.S. Rajadhyaksha (D) -Si.ew; Teneysy '
85, Who founded the Indian Languages  |85. #IRA | giST AER 99 99 &
Newspapers'Association? TAGT ey 2
(A)  Mahatma Gandhi (A)  wFgreaT amefr
(B) Bal Gangadhar Tilak (B) arer IEMER e
(C)  Mammen Mappillai (C) Awdw AfcTs
(D). Subhash Chapdra Bose (D) gy g I
"86. When Mahatma Gandhi‘was in South ~ | 86. &« HETeAT e afayor “anhrRr o g,
Africa, he started this ngwsp'aper: a9 3 IF GAER O E R -
(A) Young lndi,a, (A) Youngindia
. (B) Indian Opinion (B) Indian Opihiqn
(C) Reformer (C) Reformer
(D) Hindustan (D) Hindustan i
87. The oldeést surviy’ing newspaper of India '87. SI{R'{-TEFI' Jaq AT SiHfad AR
is: ~ ¥ :
(A). The Statesman (A) & Tegds
(B) The Times of India (B) 7 wrsrw 3iw SO,
(C) Malayalam Manorama (C), ForITerA FARAT
(D) Mumbai Samachar (D) ﬂaé FAMEN -
8,8.. Mirat-Ul-Akbar belonged to: 88. ﬁuﬁ.w_m &7 T AT
(A) Aurobindo Ghosh (A) ma}w
(B) Maulana Abul Kalam Azad “(B) #tameT 37l HeATH JTSE
(C) RajaRam MohanRoy (C) =T A A=A T
(D) Syed Abdulla Brelvi (D) < 3rseal sordr
B 29 | ‘ A’
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.. 89.  The Statesman was founded in the year: | 89, - "R T T g‘:,‘ o
o (A 1871 (A). 1871
‘ (B) 1872 A (B) 1872
(C) 1874 J | (C) 1874
(D) 1875 (D) 1875 .
- 90. Who was the prominent freedom 90. ELitcs QZHHEIHT Qe BT oS
fighter 'who was also the editor of - ) TG ¥ Fues oY o
1 ", Mathrubhumi? " _ N .
‘ (A) Madhavan Nair ~ (A)  AET AR
(B). KPKesavaMenon (B) & dr &g ATy
(C) Balakrishnan » _ _ (C) m
: (D) P Subramanian lyer ,, (D) o GIHUTHA LW
i 91.  Identification mark on the top of news |91. gaER FHETAT gss & Y W ugEmr
story page is called: ’ | ResT #7 Fer Srar 3
(A)  Embargo - (A)  ursrEt
i (B) TiP . - (B) feu , x
(C) Credit line . (O wfee @
(D) Slugline ” (D)  ForeT oS
o 92. Whatis soft news? 192, = ¥ afee =1 CHE
;; j | (A)  News based on opinions, not facts (A)  FATER feart w® amRa §
| ’ffjﬁ ; : ‘ gt o A
JILE N ~ (B) News that is entertaining or ‘(B) WARR S HAReF ar feraew
}-ﬂ: , i interesting - , ' — &
| (C) News that is circulated on - (C) F @l N Fere W) A afeF
g, i : ' internet, not paper ‘ geeie W yaRa e &
j z (D)  Advice columns (D) wolTE TN
. 93.  Who is the first editor of Dawn in 1942 | 93. 1942 # sfF & g dUEH Fi g,
o " while it was based in New Delhi? A SafF qE 7 Redr F Rvg aw
- (A) Nehruy . (A S -
i ; ‘ ’
(B) Goenka A : (B) .aNreTenT
(C)  Morris Johnson (C) ARESITT
! (D)  Pothan Joseph (D) or=sw s
! 94.  Which 6rgénization annually publishes 9. =T G GIeH ey AR IGEE:]
‘ ‘ ’ Human Development Report? NN yemRIT Far Y
(A)  WHO - (A) WHO
(B) UNCTAD (B) UNCTAD
’ (C) WwTo | (C) wro
(D) UNDP (D) UNDP |
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95. Where lndla sflrst FM ‘station started in 95, - 1977 H; 3.m'a %T Ul TUHUH q.—éjara'
(A) -Delhi (A) ﬁﬁﬁ
(B) Chennai (B) deAs
(C)  Mumbaj (€) ai'ag o ’
(D) Kolkata (D)  =hrerehrcT '
96. Who is author of the book The Politics 96. T UAREH 3 TFAAHTH & A3y
of Extrem:sm in South Asia? o e gﬁ- omF T gq
{A) ' Shashl Tharoor ' .(A) Q]'ﬁ AR
(B) Kushwant Singh (B) werdd &g
(C) "Nirupama Rao (C) T=uer T )
(D)  Deepa M. Ollapally = (D) & A, Heendeen o,
97. Which E'movel p'opul'a':;ized “the term 9?: g 39U ;T —qath?ﬁ QoG Gl
Newspeak? ‘ AR g
(A) 1984 (A) 1984 °
‘ (B) Alchemist ~(B)  IrerpiAEE
(C) Dthéllo (C) sl -
(D)  End of history (D) Uz 3w TTiCAR
. 98.  Which is the'India’s first newspaper? - 98. ' A @ IF@'FIT FHARR 93 HleT AT .82
; (A)  Hindustan Times . (A) %gqram AT
(B) Indian Express (B) . 3f3as weEaw
(C) Deepika (C) v .
(D) Bengal gazette (D) - s IS |
99. - Narhe of the first v.ernaculﬁar newspaper 99. ¥Rd.F Ygol TURRE 19T GAER 9T
of India ‘ ST ' '
(A) Harijan (A) sRe=
(B) Indian opinion (B) sfwe AR
(C)  Samachar Darpan (C) wAMER gyor
('D)é Deccan chrénicle (D) 3Fhal HIfidhel _
100. Which is the oldest exnstmg dally in 100. #RT 'ﬁr TEq QRTAT ﬁa'qﬂr:-r AT ‘
India? : FleT a7 &7
(A)  MumbaiSamachar (A) ﬂﬁé FAMER ,
(B) The Statesman . (B) 7 AT ! ’
(C) TheTribune (Q) a'ffgsq\:-r’
(D) The Telegraph. (D) & eolamw
31



B el g

Part-C: Numerical Aptitude

102.

103.

104.

What least number of five digits j¢ exactly

e

<

ANOSIPTNR2023

~3¥}?T?T:mmm

PART-C: NUMERICAL APTITUDE

divisible by 41?7 -

[

A) 10045
) 10004
C) 10041
) 10025

In a question on division with zerg
remainder, a candidate took 12 as divisor,
instead of 21. The quotient obtained by”
him was 35, The Correct quotient is:

(A) 0
(B) 12
(C) 13
(D) 20

If two numbers are in the ratio of 5 : 7 and

_their L.C.Mis 315, then their product is:

{A) 2358

(B) 2385
(C) 2538
(D) 2835

Three sets of English, Mathematics and
Sciehce .books containing 336, 240 and
96 books respectively have to be stacked in
such a way that all the books are stored
subject-wise and the height of each stack is-

" the same. Total numbers of stacks will be:

(A) 14 .
(B) 21

(C) 22

(D) 48

32
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101. Wﬁﬁﬁﬁammﬁw
41 I b femsr &

102.

103.

104.

(A) 10045
(B) 10004
(C) - 10041
(D) 10025 -

WT AW T BT ¥ oges #,
ua»-‘o’sc#ﬁaarrﬁzfé;aamﬂza#
HIH & § F 3F  g@RT

Wﬁmssmlaﬁrm%‘:
(A)

(

(

B)
Q)

0
12
13

(D) 20

a%aTWrﬁSJa‘»a@mﬁ%“
IR 39 Lem 315 G o
(A) .

(
(

(D)

B)
C)

2358

2385
2538
2835

M, 7T IR Rromr oy Pt &
A T ot FAA: 336, 240 3

.ga‘ma“;srs‘swm@arm

m%aﬁﬁaﬁm-m@f%a
E’r}ﬁrmavﬁrmgwal
S o e W e

(A)

(B),

(
(

C)
D)

14
21
22

-48
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Part-C: Numericaf-;fxptitude M ' ANOSIPTNR2023 T 9T HEATCHS Qg
105. 23x23x23-1 , ° © 7| 105 23x2.3x2.3-1 s h
2.3%2.3+2.3+1 2.3x2.3+2.3+1
y (A) 03 (A) 0.3
4 (B) 1.3 - (B) 13
(€ 22 © 22
(D) 33 . {D) 33
. 106, The value of - © |106. @R | . -
A \/ (0.0°+(0.01" +(0.009)° (0.1)? +(0.01)% +(0.009)2 |
4 | (0.01)2+(o.001)2+(p.0009)2 \/ (Q,_O'I)z +(0.001) +(0.0009)
(A) 001 (A)  0.01 o
| (B) Q1 (B) 0.1
, (© 10 (€ 10
| , (D} 100 - ®) 100
107. A mah has in all Rs. ‘640 in the | 107. TH e & U ThH IR, qiT TR
- denominations’ of onetrypegf five-rupée - 3 E'\'H — W‘f X T
and ten-rupee notes. The numbers of each : ‘ S .o
N type Gf note are equal. What is, the ‘total 640 I9F | T TFR & A & FK
number of notes he has? WET g %’I 3?!'3? aig & Ry
‘ e 87
(A) 90 (A) 90
| () 100 (B) 100
. (€ 120 (© 120
* (D). 150 (D) 150 -
# " 108. 1 y3=1732 and 2 ~1414, then the ~ | 108, 37R v3=1732 3R 2 =;1.z}14_a>r T
’ value of Tlffi's - T # - .
v. ‘ 3+42 NEP
’ . (A) 2146 (A) 2.146
L (B) 0318 (B) 0.318
(C) 0.308 (C) 0.308
(D) 0.064 (D) 0.064
5 23 - -



Part-C: Numerical Aptitude - ANOSIPTNR2023 T T A&ATHAS Agar
109, What is the smallest number by which 3600 | 109. g e o1& wear o & ¥ o
must be.divided to make it a perfect cube? 3600 & RO+ W EIE’ F qugr
Hel §o1 JTT?
(A) 9 (A) -9
(B) 50 (B) 50
Q) 300 (€) 300
(D) 450 (D) 450 ’
.110. lf azigii and b=://—§;i, then 110. Ifg ww G‘—‘% =:g_—l_il
a’+ab+b’ a’ +ab+b®
a*—ab+b* o’ —ab+b*
w3 A 3
4 4
B 4 . ® 2
3 3
c 3 3
5 5
(o 2 (D) 2
3 3
111. ~The average age of a husband and a wife 1111, we qfg 3 et 3?}'{2[3' g
10 e e e eS| i .o s w5 o4
husband,' the wife and a child who was gé' A 9l gt AR R & ke
born dur.i'ngrthe .interyal, is 20 years now. Y1 g0 us = #r.sma 3{]—{! kic
How.old is the child now? 20 aé | goar 3T Read arer S H
(A) Lessthan lyear (A) 1 af T H
(B) 1year (B) 1 aw.
(€ 3year € 3o
(D) 4year (D) 4 a¥
112. A.train moves with a speed of 30 km/hr for 112. wH ST 12 e a& 30 frefveer $r
e T T e | e 3 e o o & e
the train is: 45 feavEer fr ?Tf?f ) ?l
| B M a g
(A) 37.5km/ht (A) 37.5 fraveer
(B) 36km/hr (B) 36 fRevEer
(C) . 48 km/hr (C) 48 feratlyerer
(D) 30 km/hr (D) 30 ferefeer
Ty 5



Part-C: Numerical Aptitude ANOSIPTNRZOZ3 ST 3T: HEATEHS ATl
'113. In an examination, a pupil’s average marks 1“ 3. uH g{Er ﬁ- & m a; 9 9uY
were 63 per paper. If he had obtained.- ' N 3 \
20 more marks for his -Geography paper ¥ 63 A1 AR o
. "and 2 more marks for his.History-paper, his e & YR & AT 20 IRF I
b average per paper would have been 65. 3ﬂ7 K ier-e m ¥ T &F ﬁt’
How many papers were there in the v . )
éxamination? 2 Jtus W F“r a e aﬁ' ar &
: gfd 9 SR 65 glarl wlam A
(A) 8 '_ - (A) 8
3 8) 9 (B) 9
(C) 10 () 10
1. (D) 11 (@) 11
114, The price of petrol is.increased by 25%.-By. 114, 9 & fAa F 25% &1 CrAGEL
how much percent a car- owner should . e ~ 3 1 :
reduce his consumption of petrol so that §é— vl T H?R' H : #
the expenditure on petrol would not be U fhaer 9fded A & dIgU
Increased? s dgier o T 7 w2
(A) . 25% (A) 25% -
\ (B) »30% (8) 30%
(C) 50% ' () B0%
(D) 20% (D) 20%.
115. The ratio of the number of boys and girls is 115.” ezt 3R wsfeal fr g&ar I AT
3+,2. 1 20% of the boys and 30% of th_e girls s,y % wE¥F
are  scholarship holders, then' , the 7 3 - 2 %i :q% 20% 371?
) percentage -of -students who do not get . 30% as%m IECITR IR g, o
scholarship is: BrgfeT o T A m‘fr &l Qﬁ%r?r X
(A) 76 . (A) 76
1 ®) 75 ® 75
© 72 © 72
(D) 50 (D) 50
116: If A exceeds B by 40% and B is less than | 116. afs A, B ¥ 40% o ¥ 3R B,
K 0% C=? - ; . © A,
C by 20%, then A:C C¥ 20% T &, A:C=7
(A) 3:1 (A) 3:1
(B) 3:2 (B) 3:2
(€}, 26:25 (€ 26:25
(D) 28:25 (D) 28:25
B 35 N
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117.

118.

119,

120.

Two numbers are respectively 20% and
50% more than a third number. These two
numbers are in the ratio:

(A) 2:5
(B) 4:5
(C) 3:2
(D) 5:2

Fifteen years hence, a man will be just four

‘times as old as he was 15 years ago. His

present ageis: *

(A) 10years
(B) 15years

. (C) 20vyears
. (D) 25years

The compound interest on -Rs. 16,000 for
9 months at 20% per annum compounded
quarterly, is:

(A) Rs.2,518
(B) Rs.2,520
(C) Rs.2,522
(D) Rs.2,524

Anil is as much'younger to Vivek' as he is

older-to Tarun. f the total of the ages of
Vivek and Tarun is 48 years, how oid is
Anil?

* (A) 20years
*’(B) 24 years

(C) -28years
(D) 30vyears

117.

118.

119.

120.

2
. (B) 4

3

5

{D)

& et v Al ' d e
20% 3R 50% e § ¥ & dead
3T H & '

(A) .5

5
(C) 02
2

UgE W 4 UE AT dr 3E

ﬁsmqs?}aﬁrmﬁﬁﬁ?wvﬂ

gt SoThT I 3T
(A) 10 =¥
(B) 153y
(€) 20 a¥
(D) 25 a¥

16,000 39 W 9 @ & fvw
20% 9fd a¥ @1 X ¥ A 3R
R Thalg R g

(A) 2518 %.

(B) 2,520 %

(C) 2522 %.

(D) 2,524 %.

e, e @ Saa & o 3§
fSaar & a5 oo @ @1 & af
ﬁwaﬂtaﬁwﬁ@wa@%’a&&
it ferer A 3y Reaed ¥

(A) 20 a¥

(B) 24 a¥

(C) 28 7%
(D) 30 a¥

36
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121

122,

123.

124.

A person invests money' in thfee different

schemes for 6 years, 10 years and 12 years -

at 10% , 12% and 15% simple interest

respectively. At the completion-.of each.
. scheme, ‘he gets the same- interest. The

ration of his investment is:

(A) 2:3:4
(B) 3:4:2
(C) 3:4:6

6:3:2

(D)

In an election between two candidates, one

_got 55% of the total valid votes. 20% of the
votes were invalid, If the total number of-
- votes was 7,500, the number of valid votes -

that the other candidate got, was

{A) 2,700
(B) 2,900

“(C) 3,000

(D) 3,100

A fruit seller- buys lemons at 2 for a rupee
and sells them at'5 for 3 rupees. His gain
percent is:

(A) 10%
(B) 15%
(C) 20%
(D) 25%

By selling a table for Rs. 350 instead of
Rs 400, loss percent increases by 5%. The

. cost prlce of the table‘is:

(A) Rs.435
(B) Rs.417.50

(C) +Rs, 1,000

(D) Rs. 1,050 -

12

122,

1123.

124,

- (B)

s 6.99, 10 av 3R 12 a¥ & fov
10%, 12%. 3R 15% WUROT s W
dar B e ¥ e A &
T g W I FAWT 1T, AT gl
37, Tder &1 Jeard &
(A) 2:3: }
3:4
((®)] 3:4:
(D) 6:3

a’fsrﬁhaa'ﬂ’ra:aﬁawamaﬁw

L@ For du At @ 55%, die @A
20%%@3&:3&@?@@'

FEar 7,500 o A g@ IEAEEN B
yree Sy Fdt v Fear 6 :

A) 2,700 |

(8) 2,900

(C) 3,000

Pes

(D) 3,100

TF B g TE I OH 2 g

e § 3R 53 v F 5 &
Ferar ¥ sEE A AT

(A)  10%

(B) .15%

(C) 20%

(D) 25%

uh e #4000 FE F TG
350 TUd F dUY W Ewe wfawd 5%

9% ST &1 ATt 1 6RTd H{ed o

(A) 435 T

(B) 417.50 sua
(€) 1,000 TT=r

(D) 1,050 FT

37
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125. A merchant has 1,.000 kg of sugar, part of

126.

. 127.

128.

which he sells at 8% profit and the rest at
18% profit. He gains 14% on the whole. The
‘quantity sold at 18% profit is:

(A) 560kg
(B) 600kg
(C) 400kg
(D) 640kg

A plane left 30. mihutes later than the

scheduled 'time and in order to reach
the destination 1500 km away in time,

it had to increase the speed by
250 km/hr from the usual speed. Its
usual speed is:

“ (A) 720 km/hr

(B) 730 km/hr
(C) 740 km/hr -
(D) 750 km/hr o

A train travelling at a speed of 30 m/sec
crosses a. platform 600 m long in
30 seconds. The length of the train is:

(A) 300m
(B) 200 m
(C) 150m

(D) 120m

X and Y start simultaneously from a
certain point in North and South

directions on motorcycle. The speed of”

X is 80 km/hr and that of Y is 65 km/hr.
What is the distance between X and Y
after 12 mlnufes?’

(A} 39km
(B) 36.2 km
(C) 29 km
(D) .14.5km

125.

126.

127.

128.
. efar Remdt F ww SR

TH ORI F 9™ 1000 frdmEme
ol &, oraer o o aF 8% W
waﬁra’r&rw%mwm%l
38 Fel ARG 14% &7 @meT g
18% FITSTqTé'EﬁUTé A &

(A) 560 f&.am.

(B) 600 fF.am

(C) 400 fram

{D) 640 fFam.

e faee fAuifa @& & 30 A
G A T g 3R 1500 fRAT gy

'maﬁquﬁ?‘ra‘ﬁmﬁ

AT afqd & 250 ﬁm’r/aa Fr afa
FeTe BT SHR HHRY A 8

(A) 720 fr#Traer

(B) 730 . /eer

(C) 740 fFAYfEeT

(D) 750 fR.ATfEer

30 Hreydss 7 afd ¥ e arel
TF T 600 X T HEwmH @
30 b H UR A § e dr
GEIES

(A) 300 #r

(B) 200 #r

(C) 150 &r

(D) 1203

X AR v AcEsfFad W 3R AR
foig & s
Ty gE g@a gl ox Hfqr R
80 frefveer & 3R v & R
65 frei/Eer &1 12 fve & a1 x 3k
Y & oI T gl 1 g

(A) 39 f&#AT

(B) 36.2 far

(C) 29 fw.AT

(D) 14,5 fr=y

38

D A WY Y e W



Part-C: Numerical Aptitude

) ANOSIPTN R2023

-

STFJT T HE?IIIHH’»' '\'ﬂT!TaT

129. 3 men of 5 women .can do é work in .|129. 3 Y AT 5 ni%a‘n;r TF HH Al
s women et e wors | 12 e A w6 gt o
: r ' 5 Afgarslt @ w1 qu ?ﬂ?f H R
| AT FINIM? '
(A) 4 days A 4 R+
(B) 10 days (B) 10 =
(C) 15days (C} 15 f&=r ;
| (D) 20 days (D) 20 fear
130. f a and b are the roots of the 130. gfy ¢ 31K b THEOT ¥ —6x+6=0 &
4 - equation x*~6x+6=0, then the value 7o &, ar (022+bz') T AT
of (az+b2*) is:. o
"(A) 6 (A) 6
’ (B) 12 (B) 12
(C) 24 ) (cy 24
(D). 36 (D) 36
131. "If (x—1) and (x+3)are the factors of |131. ofy (x-1) 3R (x+3) & TS g.ar
| X +px+q, then the possible values of | p 3. q.&F +px+q Goilaa A %
‘p-and g are: '
(A) p=-2,9=-3 . (A) p=-2,4=-3
~ (B) -p=2,g=-3 (B) p=2,q=-3
_ - €) p=2g=3 (€ 'P=2,q=3 -
l (D) p=-2,=3 (D) p=-2,g=3
' 132. A and B together can complete a piece 132. A 3?11 B ﬁl’a‘aﬂ‘ TS FIH Fr 8 ﬁ'\?ﬁ H
;fiivi;k;r;id:nst:/:‘i'clsrfe?tr;d ec’;hcearn'c::. T o § e 3ﬁT B
t complete \t/'h.e ‘work in 6 daygs. In how 12 e A T A R &l
much time will A and. C together Ao w1 w6 A F oqu o
complete the work? Fhd 81 A 3R C fﬂ'ﬂ%‘{ m HI
\ | e wHT # O B
{A) 14 days (A) 14 a1
(B). - 12 days (B) 12 R :
(C)- 10 days, (C) 10 fe=
| (D) 8days (D) 8 fe=r
B | 39
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Part-C: Numerical Aptitude ‘ ANOSIPTNR2023
133. (22+42'—i;62+ ...+202)='.> o 133. (22.+42+62+,........+202)_—_‘?
(A) 770 (A) 770
(B) 1155 .(B) 1155
(C) 1540 (C) 1540
(D) 1925 (D) 1925
134. The sum of first 20 odd natﬁral | 134. yad 20 f(wA qﬁcﬁ-m HEarT T
numbers is: T &
(A) 420 (A) 420 .
(8) 400 (B) 400 :
(c) 300 (C) -300
(D) 210 ) (D) 210
135. A clock buzzes 1 time. at 1 O’clock, 135, U R 1 I 1 §R, 2 «oF 2 IR,
2 times at 2 O’ clock, 3 times at 3 O 3 @ 3 &R, 3 Fsrar %,
clock and so on. What will be the total . C Lo «
number of buzzing in‘a day? e e A7 W r T aE; fratt
: grair?
(A) 100 (A) 100
(B) 150 (B) 150
(C) 156 (C) 156 .
(D) 164 (D) 164
136. The radius of a circular wheel is 1.75 m. .| 136. s a—amz ofgr  dr e
How many revolutions will it make in 1.75 #es &1 11 feey & anT & ug
travelling 11 km?
(A) 10 (A) 10
(B) 100 (8) 100
(C) 1000 (C) 1000
(D) 10000 (D) 10000
137. The area of four walls of a room is 137. w& FAY H IR &R F TG
163 . The lenth and bl of the | 1 A ¥ 1 e i A 3
breadth of the roon% is: . P ’ A 8 AT 3R 6 Fﬁ‘&' ¢l R A
BICERF
(A) -3.5m . (A) 35+
(B) 5m (B) 5 #r
(C) 6m () 6#r
(D) 7m. (D) 7 #r
§
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138. The sides of a triangular board are 138, wx Bl @i & siG{Tc'r" 13 JﬂET
13 m, 14 m and 15 m. The cost _o.f 14 #ex 3k 15 #iex & SR @
p_a;-ptnpg at Rs. 8.75 per square meter is: ST 8.75 U Ry aat aew ¥
(A) Rs. 688.80 (A) 688.80 TUT .

(B) Rs. 735 (B) 735 Tud
()} Rs.730.80 (C) 730.80 FTWr
(D) Rs.722:50 (D) 722,50 Fq&

1‘.'539..' The area of a circle is increased by i 139, 1 JA dem W 3FHAL aﬁtﬁ(‘-\'
22 cm? when its radius is increailsed‘.by 22 AH? g Sar B a—d #r m*_
1 cm. The original radius of the circle is: . )
(A) 3cm (A) 3 @+

" (B) 3.2cm, (B) 3.2 ¥
(C) 3.5cm (C) 3.5 @A
(D) 6cm’ (D)~ & [T v . '

140. A cone of height 15 c¢cm and base 140. F=Es 15 A ik uR waw
e s o | 30 1 Xw tg 15260 o
.percentag'e of wasted wood is: . w & M d W I T TG

: deRgr & ufaed &
(A)  75% (A)  75%
(B) 50% (B) 50%
(C) 40% (C)  40%
(D) .25% (D) 25%
141. The volume of a cuboid is twice that of | 141. U UaATH & 3IIad TH ol A
-cube. If the dimensions of the cuboid :
Zrceu9 cm X 8 cm x. 6 cm, the total W WT %I' e et 3ﬂ'€IFFT
surface area of the cube is: 9 T x 8 @ x 6 [AT g
U T FA FAE SAB 8
(A) 72 cm? (A) 72 Y
(B) 216cm’ (B) 216. &2
{C) " 108 cm? (© 108 ¥
(D) 432 cm?’ (D) 432 g—;ﬂ2

142. A copper sphere of diameter 18 cm is 142. 18 QA ':ﬂ'g am TE AT & e A

drawn into a wire of dlameter 4 mm. 4 T S g UE aR & o

' The length of the wire so drawn is: ‘ 5

ST ¥ 39 YR T AT IR @
~olaTg g

(A) 243 m \ (A) 243 #r

(B) 245m . (B) 245 #r

(C) 247 m (C) 247 #r

(D) 250m . (D) 250 #

B 41
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? Direction (Qs. 143 to 145) : The’ pie-graph

given below shows ‘the break-up of the cost of

construction of a house. Assuming that-the total cost of construction is Rs. 6,00,000, answer the | .
question given below:

fXam (R 143 | 145): Y R TR Ut U =X & NHEIOT Y e @ faaRor aar
%lwmg%ﬁmﬁwmaobooom% mﬁﬁvmqﬁammé ‘

143.

144.

145.

Timber

L
. . 36° Labour
Supervision ¥ p=y
TR 54 ™ 90°
b4° 72°

Steel = 10

54 Cement:
AT -eme

Bricks

The amount spent ‘on labour exceeds

the amount spent on stee| by

(A) 5% of the total cost

" (B) 10% of the total cost,

(C)' 12% of the total cost
(D) 15% of the total cost

The amount spent on cement, steel and
supervision is what percent of the total
cost of construction? ‘

(A) 40%
(B) 45%
(C) 50%
(D) 55% -

The amount spent on labour exceeds
the amount spent on ‘supervision by:

(A) Rs.2,00,000

" (B) Rs.1,60,000

(C) Rs.1,20,000

(D) Rs. 60,000

143. mwmﬁﬁﬂétﬁ%‘rﬁﬁﬂww
@raréuﬁ?raqﬁm%
(A) T T 5%
(B) mm‘awm%
(C) a:arwramm%
(D) aﬁﬂmww% -

144. @hﬁa@asﬁ‘rqﬁa‘mq@i‘raﬁr
w$ ufRy fwT B P e w
foraeT wfaera §7?

(A)  40%
(B) 45%
(C) 50%
(D) 55%

145, sy ox @F @ g AR oHAEor W
T fr s ol § 3w &
(A) 2,00,000 TTF
() 1,60,000 T
(C) 1,20,000 T
(D) 60,000 TIF
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146. Harry, John and Smith start a shop by 146 T, ag ik fEy /& wmAm
investing Rs 27,000, Rs. 72,000 and 27, 000 m 72,000 m Ty
o B0 pecily Athe sndof | oron e a1 Pty s cw gom
among them and Smith earns the share IE 1 af & fa F, o 3eeh
of Rs. 36,000. Find the total-profit. fald o ™ 3k RAy @
36,000 0¥ @ fewar fod %em
. ol A A PG| (
(A) Rs. 1,10,000 (A) 1,10,000 For
(B) Rs. 1,25,000 (B) 1,25,000 9
{C) Rs.98,000 (C) 98,000 TT
(D) - Rs. 80,000 4 (D) 80,000 T |
147. 50% of a number is 18 Iess than two- | 147. frely d&dT & 50% 3T TEA &
third ofthat number. Find the number. ’ e ¥.18 & HCEIT A
(A) 123 (A] 123
(8) 119 (B) 119
(€) 115 - (C) /115
(D) 108 ‘ (D) 108
148. - Thé sum of natural numbers wh|ch are | 148. 3o Wieha HEAHT T IWT ST 100 &
divisors of 100 is - AMAREL '
(A) . 116 (A) 116 ‘
(B). 117 B) 117
() 21 Q) 21
(D) 217 . (D) 217 ,
149. Find - the compound interest on 149. 31,250 T W 16% i as & WAy
0, ¢ e
RS 5125 o1 6K pa compounded | it 5 e R e AL
(A) Rs..4,000 (A) 4,000 9 -
(B) Rs. 3,902 (B) 3,902 3u¥ .
(C) Rs. 3,500 > (C) 3,500 39
(D). Rs. 4,200 (D) 4,200 9
150. Ayush® spends 23% of.an dmount of |150. Y IR F. 23% ﬁ?\ra-g;r T,
money on trans.port; 33% on food, 19% 33% ST WY, 19% St 1 Rer W
on* children education and 16% on
recreation. He deposited remaining 3ﬁT 16% HAR ST me%l 397
amount of Rs. 504 in a bank. How'much Y TR TI FAT I | TR dF A
money he spends on foad and qiage ‘
‘trahsFZort tb*getjr:er? : | %mgmﬁ e
(A) - Rs, 3,200 (A) 3,200 %.
(B)- Rs.3,126 (B) 3,126 %.
(C) Rs.3,136 (C) 3,136 =.
(D) Rs.3,048 (D) 3,048 %,
Bﬁ o f

e . e

. e i

e e

P,
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PART-D: ENGLISH COMPREHENSION

Read the following passages. carefully

and answer the questions given below:

Secularism is the very soul of Indian
society and the democracy. India has a
tradition of co-existence, . tolerance,
cooperation and mutual respect between

all its social and religious-groups. Islam

came to India with Muslim conquerors. A
large number of natives turned Muslims
over the period and presently they make
up the second-largest community of our
nation. The contribution of Islam to
Indian culture and civilization has been

spectacular. It added variety, colour and '

richness to native heritage. Islam
enriched India  with  architectural

wonders, the most precious being ‘Taj

Mahal’, the symbol of aesthetic India.
Christianity had preceded Islam to India.
St. Thomas, one of the twelve Disciples of
Christ arrived in India to preach his
message when St. Peter was in Rome.
Parsis came to India in the 8th century to
escape from religious persecution in Iran.
They brought Zoroastrianism. Jews sailed
to India 2000 years ago to settle down in
Mumbai, Pune, Kochi and Delhi.
Hinduism  itself wés‘ a religious
conglomeration of thousands of sects
having distinct beliefs, rituals, customs
and practices. Three nearly different
religions branched out of it, namely,
Buddhism, Jainism and Sikhism having
separate places of worship and holy
books. In- all, India remained a shining

" example of unity in diversity, nowhere

else found in the world.

- 151,
" (A} Muslims are the second largest

152,

153.

Honouring this eternal spirit of India, our

constitution makers declared our nation
to be a secular state without any
discrimination. Although the people of
our country are deeply religious yet they
don’t harbour any ill will or intolerance
against other faiths. Even during the
freedom struggle, the leaders who led it
made secularism a basic policy to rally all
the people against the British. The secular
polity was fiercely strengthened by
Mahatma Gandhi. Himself a deeply
religious Hindu, he had great respect for
all other religions and faiths.

Identify the wrong statement:

community in India

(B) Zoroastrianism is a festival of the
Parsis’

(C) - Indian constitution is secular in
nature. '

(D) Buddhism and Jainism are religions
that branched out of Hinduism.

Identify the correct statement:

(A) India was ruined by the
architectural wonders of Islam.

(B) St. Peters arrived in India to preach '
the.message of Jesus Christ.

(C) Our constitution makers declared
India a .secular state with
discrimination.

(D) India is a shining example of unity
in-diversity.

Find a word from the passage which
means ‘Collection’: ’

(A)- Co-existence
(B) Constitution

(C) Conglomeration
(D) Branched

R e e e ST
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' 154. Fmd a synonym from the passage to the

word- ‘Dear’

(A) Spéctacular -
{B) Precious
(C) Distinct

- (D) Respect

~.155. Find a word whic¢h is a synonym to

‘Persecutlon

(A) Discrimination
(B) Intolerante
{C). Struggle

(D) H-will

156. Find the odd word out:

(A) Tolerance’

(B) Cooperatuon
(c) Mutual respect
(D) . Eternal

157. Find the odd word out:

(A) Beliefs
(B) Rituals
(C) Customs,
(D)  Spirit

3

Find the correct antonyms ‘foi-the given

words:

158. OSTRACIZE , -

(A)r Crucufy
(B)- Shun - '
(C) Discard

(D) Patronize

159. SPITE
(A) Spleen .
(B) Venom
(C) Affection
(D) Spirit

HeT T 31'33'3& A
160. LANGUID. | “
('A) Smart
(B) - Energetic
(C) Fast

161.

‘162,

(D) Ferocious .

EXONERATE {
,(A) Compel

(B) Accuse

(C) Imprison,

(D) Boldress

Rewrite the following “sentences in

indirect speech: ’ ,

I said, "How quick you are!"

" (A) !exclaimed thathe is very quick.

_ 163.

164*

(B) I axclairhed that he was very quick.,

(Ol exclaimed that you were very

quick.
(D) -1 exclaimed that he has been very
" quick.

Slva says to me, “You are smart.”

(A) Siva tells me.that | shaikbe smart.
(B) Siva tells me that he was, smart
(C) Siva tells me that he is smart.
(D) " Siva tells me-that | am sn:nért.w

Hé said, "I have read this novel. "

(A) He said that he has read this"‘novel.'

(B) +He said that he read that novel.
)

(
(C) He said that he read this novel.
(D) He said that he had read that novel.-
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165.

166.

167.

168..

169,

Fill in the 'blanks with the correct
determiners:

(A)
(B)
(C):
(D)

You,
done!l .

pay for the damage

could
would
dare
must

We need to do of work

.before the event starts.

—

(A
B

-

(
(e
(D

~—

()
(B)
(©
(D)

much
alot

more
some

There are . messages for
you.

none
no
much
little

Choose the correctly spelt word:

(A)
(8B)
(D)

(A
-~ (B)
(©
(D)

Bouquette

Boquete
Bouquet
Bouquete

-

surveilance

.surveillance:

survellance
surveilance

170.

171.

172.

173,

174.

175.

(A)
(B)"
(C)
(D)

(A)
(B)
(C)
(D)

(A)
(B)
(C)
(D)

Leasure
Lesiure
Liesure
Leisure

Defendent
Defendant
Defandant
Defandent

Alliteration
Alitration’
Aliteration
Allitration

Fint)j one word 'sﬁbstitution:

A man of lax moral:

(A)
(B)
(€)
(D)

Ruffian
Pirate

‘Vagabond

Licentious

Anything written in- a letter after it is

signed:

(A) Posterity-

(B)  Postscript
(C) Postdiction’
(D) -Corrigendum

A deep fissure in the earth’s surface

(A)
(8)
(©)
(D)

Chasm
Aperture
Ditch

Pit.

S B SRR et W e
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(

176.

177.

178.

ST §7
(A)- TIfer
(B) YTehd

c

(C) TFFd + -

[

(D)  3T9HYT

w

ST ar gmer gRaw T forehelr 87
(A) e |

(8) ‘=g

(€ 3w

(D) 3

e o e el # R At
Haftr Tt f7 T

(A) -343-351 -

181,

182.

';ren'aﬁa?'ara’r:% T %a & w1

@ gAer fear arar § 39 R A\ 4
ST ST B2

(A) - U‘EWT
(B) rSTHTNT

(C)  HudhemreT
(D) TS

QT A T A @I T Fed B
(A)

(8) awor
(€ E& -
(0) |&=H

S (B) 311312 "183. 3caW R, HEAA QY @l W
(C) - 314-322 . ﬁmﬂéﬁm ¥ 3¢ g.? ’
(D) 330-335
Ay cafET aaw wEeda
179. ¥R ﬁ %@rm e FAT STl %b (B) oW ATHh HA=ATH
(A) 18ﬁ-|aa§ (C) Waéﬁm _
(B) 15 fadeX - (D) uRATOETER FEATH
() 19R, - ,
o) 14l 184. a'arﬁr ﬁwmmﬁw%,
iso.%frswma@ammﬁmav ﬁ“’m%’
(A) s R (A) FEEE BT
(B) dEemr AR ((B) A & e
Q) =S R (€ Ry A
D) e R . (D) & A S s aTeh
B &'h a7
i \

O R hcuri et eyt i b
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(

176

177.

178.

178.

"180.

(B) 311-312

(A) 18 TRER

(€) 19fdEw .

© @S R
(D) T#e ffy

(B) ST
(C) deFd

<

(D) 37U

FIFHT A IRARX Wbl A e &7
(A) Aol fadeh

(B) ‘&3

() 3ifecH

(D) 3md

it ¥ foer sredet R s R

(A) - 343-351 -
(C) 314-322
(D) 3304335

(B) 15fadsy:
(D) ?4@W

(A) sTEAT fam
(B) o=y fafy

181.

182.

'183.

184,

'“-FTQWﬁ?ﬁ a»'ra’r‘% T & ¥ o &

ST ST 87

~(A)~W34T$f,

(B)  ISTHTNT
{C)  HuhHTIT
(D) HTTHTST

fore eree @ frel) st aq, wTof, T
A AT F A @ SH F Fed 67

(A) e &

(B) fawor
© @&
(D) FaaH

W

forg e & fe 87

(A) cafFd araE TEAH
(B) TRV aTeIeh HaATH

(C) * I[oTaTErR FeTH,

- (D). 9REOETS FEATH

(A)  FEEH, forw

By shar & T

{c) frErye¥F R
(D) sHAT TS M

. .
.
B~ 47 .
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185. Y ueg fondly safed ar o & fadwer | 189, fRwar weg & Al glar -
qATAT § 3 SUEIOT H AT AT (A)  ERFeTET | -
Fed & | (B) &
(A)  ferdor (© W
- A (D)  3iFTam
(c) o |
(D) Fua | 190.3{’3T¢3ﬂ$rarasrﬁa’mmam%a’rtgﬁr'
| 1 faher Far g
186. a3 o7 forg efde @ T §7 , '
| | | (A) g
(A) FAETHETCd (B) umY
(8) I Hrefey (C)  3Frehrar
(C) amErR T frefeeara D) e
(D) o7 B I oY 7T
187, SR & WY WY FS @ g 191, S Tl BT TAT G T W T
IR TG . & ara| .
(A)  wehe-EeT (A) 3% T o7 aren
(B) AT H (B) e B T
(C) 3T | (C) IR FALRBAT g

(D) %r‘#@mﬁ-wﬁ (D) SAH § FIS T FET

188. g & WA AT F1 IR @ T

192, S cufdd e A ¥ 3 P A
AR B Tefort @ s wofer & A

S ¥ waftd fomar Sar 82
| - (A) TUEH
(A) U AR FEr uter arar
(B) 3rfaTeE

(B) STET-AT §IAT ‘
) (C) THATIR-ATdS

(_C) HTHIRN-UTATA Teh el

(D) srFBE ML

(D) dToHR

L P PRV RS Srongs Raey T T Nl
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193, wﬁﬁaﬁaaﬂ%wﬁm

- 194.

- 195,

196.

%ﬁ?ﬁmmm%‘?

(A) U FFR
(B) Ui WER
(C) Y

(D) STHAFE Mgt

F9 Fg FAMR FAER 9F H ST §
a’rma:mqs-o’rmaﬁwm
ST 87

(A) sﬁr/ﬂraa,@.-

(B) TaFqd @AER

(C). A& AR

(D) ool A IS oft o7y

R&r @1 ggen A WAER 9T FT @
e S

1A) e e

(B) 37Hd AR TR
(€) el
o s

i

TRET T g A FA-AT G, §?
(A) i sfaerd s

B AT e FHER

197.

(€) GO wET oEe

(D) TICAIfged T -dE@=

(A) Sifeer AR e |
(B) & IR W

198.

199

FIE: SR eI AT YGwH Y T FeAT
'asrm?fﬁrv

ﬁ%@n%amr%rﬁﬁwiﬁmaﬁr
mﬁﬂa@#mﬁmﬁﬁﬁrﬁlw
W R o & F ST A e W @

R & =% gew 2 o @ afewr #
‘argmmaranv&m%waaﬂmaa

VoS S A PR TN ¥ R
AETS & THIA el § 3a¥ a0 & 5Ed

Fo, B 39 g 9@ ¥ IR aen

SITCT-GTAST- TN - ¢ TH A T |

s e 4w wE B U9 wEaEr.

ECCTAIEC I foree 1 Cor M St C A - Dy |
gsﬂlifaﬂm$31m3ﬁ%wmaﬁr
mmea:mrwm
TFENH  UEAGREIEST TR AR U
mﬁwﬁaaﬁ@wwmﬁ
FY Torgr Im=r g

s SR & R O o g O

(A) =g
(By i3hfq
(C) ®&cHh
(D) STeTER

o IFHT-ATH FIT. AT?

(A) oIS TEHEYH

200.

(B) TSt eRTI
(C) TouENTERYE
(D)  STCIE-GTasT-UFERH

Fd

Y FA A gEEHT HT BROT FIAT FART?

(A)  sereifa Seaifena

(€ 3meERE -, (B) Tl wwar Tyt & v Ay
. (D) - THEHIRE (€)X Emagerd
~ (D) AR E AR
B 49




IMPORTANT INSTRUCTIONS

HEeQ! ey

Duration of the examination is two (2) hours and there are
200 Multiple Choice Questions (MCQ).

Candidates are required to mark the correct answer against the
serial number of the question in the OMR sheet. Candidates
giving more than one answer for a question, the answer will be
‘treated as wrong,. 5
Each correct answer will be given one (1) mark. There will be
negative marking of 0.25 marks for each wrong answer.
Candidates are, therefore, advised to keep this in'mind while
answering the questions.

You will be supplied the OMR Sheet separately by the
Invigilator. You must complete and code the details of Name,

Roll' Number and Booklet Number in, the OMR Sheet|

‘carefully. You must also put your signature and Left-Hand
Thumb impression on the OMR sheet at the prescribed place
before you actually start answering the questions. These
instructions must be fully complied with, failing which, your
answer sheet will not be evaluated.

16.  Failure to comply with any of the above instructions will

render a candidate liable to such action/penalty as may be|.

deemed fit.

“Mobile phones and wireless communication devices are
completely banned in the examination halls / rooms.
Candidates are advised not to keep mobile phones / any other|
wireless communication devices with them even in switched
off mode, in their own interest. Failing to comply with this
provision will be considered as using unfair means in the
examination and action will be taken against them including

17,

12.  o@an & ma(z)u%ﬁg‘vﬁwwzoomﬁm

Iaflear T 9 (@R § v & i T F ad s
E| ﬁ%ﬁ?ﬁﬁﬁﬁl@ﬁﬁ%%&@émm%mﬁ
Iuftear &1 AL T HHT S|

13.

i T I R (1) 5 R e e e IR & R
0.25 3% F THRE IHF TN FEE, IHGER B ¥H A
méﬁgmsﬁrmﬁt@ﬁaﬁmﬁmﬁ%l

friters g O 3NwH. IR, 9fe st @ @ el .
. e § Raaeet % SER wrEgds AT TW, T da ek
THee TG savd Ryl % SR awE # [ A TR
it wm. o, i W Pulie wm 3 s a9 sraeR R 9 Ty
& 30 w1 e o sreva el Iwd PR T ot e e
o @ =iy, sraen anaeh) STRatyer Y wrEn T S

14.

15.

16. mm\ﬁaﬁwaﬂmquwﬁﬁmwm

FrfaTt i 71wl @ A1 qve T o Wk &1

17, “qimr wg /- &R & larse w7 qor dak §9R @ [ @@
ARG & sefizant ) 379 o fed % wong @ widft & 5 @
DT B / T AR IR AT B AT A W W o
O 7 @1 3 NGO BT ST T B W 0T 7 g svat
FT ITT T O FR e g wHEanEt # e, v
mwaﬁﬁaﬁﬁvﬁwﬁaﬂ#ﬁﬁ#aﬁwwaﬁ#

cancellation of their candidature and future debarment from afefery &7 @ T fsar s’
appearing in examinations.”
MANNER IN WHICH ANSWERS ARE TO BE GIVEN I A Ht ol

Directions: Each question or incomplete statement is followed by four
alternative suggested answers or completions. In each case, you are
required to select the one that correctly answers the question or
completes the statement and blacken appropriate.circle A, B, C or D by
Black/Blue Bal Point Pen against the question concerned in the
Answer Sheet.

The following example illustrates the manner in which the questions
are required to be answered.

-

Example:
Question No. ‘35'-
Who is the father of Geometry?

(A) Aristotle
(B) Pythagoras
(C) Kepler
(D) Euclid

Explanation: In the above example, the correct answer is ‘Euclid’ and
this answer has been suggested at ‘D’. Accordingly, the answer is to be
indicated by blackening the circle by Black/Blue Ball Point Pen in
columnn ‘D’ against Question No. ¢35” in the manner indicated below:

Question No. ‘35'-

'

There is only one correct answer to each question. You should blacken|

the circle of the appropriate column, viz. A, B, C or D. If you blacken
more than one circle against any one question, the answer will be

Fréw: Fw W STUET Y% AR AT K AIG TR I AU TR R
T T 1 S g e Rt T Y G R A A IW G
ST FA QU R 3N IR IR wFr F I MARR GH A, B,
Ca D%l o@ / iR =Tet wise W & Fren e 8l

R 7o TeTEwr | Wy B smen e few v g e R

SCTET:
W g, 35
tEriG % S B a7

(A) s

(B) wrgumiNE

(C) Fwm

(D) e
W IR e §, 7 I g’ ? i gg S D’ d et
T AL 3 U CHE ‘357 F W Hiem DY % Meshi @H R B [
A sfer @re W g 07T Feh s AR werd fafy & orew A R

W 4. ‘35'-

YT WY w1 HI¢ TF T T I 21 S s weW W A, B, C @
D ¥ MAHR TR F el FA 81 AR A ff T % 6 O §
31 MeTHER TH HI ST B, A F9H Teld H/IAT Q0| W A

treated as wrong. Any change/correction in the responses or use of] 8 ulada/ G ze L I SR 2

correcting fluid is prohibited.

You are NOT required to mark your answers in this Booklet.
All answers must be indicated in the Answer Sheet only.

AT 79 g e Iut w Rl @ R amawar A 19 3w
Faw I gf ¥ $F frg o R

56
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